BT TRIA O - HEHHEE X T EFEJ‘ciGEHEEEIEE
- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 37,906 87,241 41,693 45548
RIRET1T 4 12 6 6
RIRET2T 24 52 25 27
RIRET3T 153 489 246 243
RIRET4T 385 996 486 510
B 566 1,549 763 786
REH 2,641 6,263 2,930 3,333
L&A 4,178 9,607 4,567 5,040
BE 2,488 6,022 2,908 3,114
B AN 1,233 2,829 1,334 1,495
BERT 1,109 1,795 852 943
BER2T 723 1,416 671 745
BHERST 392 905 453 452
g 2,224 4116 1,976 2,140
BARE 250 647 325 322
[N 2,191 5,299 2,499 2,800
hERE 609 1,443 658 785
e 2,359 5,236 2,521 2,715
25 L ET 2,262 5,289 2534 2,755
B &AL BT 68 152 61 91
HEFILET1T 581 1,292 610 682
HEFILET2T 593 1,360 641 719
HEZFILAT3T 574 1,358 661 697
g 1,816 4,162 1,973 2,189
B & it B Fr ET 675 1,659 809 850
BHEREBET1T 594 1,244 594 650
BHERERET2T 751 1,784 870 914
BHERERETST 767 1,672 756 916
HEFMHET4T 453 1,008 493 515
HEHFMHETST 792 1,662 798 864
HEHFHET6T 863 2,026 976 1,050
HEFRET7T 848 1,978 956 1,022
HERERETST 57 173 81 92
£t| 5125 11547 5,524 6,023
HEF R FET 1,791 3,935 1,917 2,018
S|EFET1T 566 1,536 763 773
S|EFET2T 755 1,823 872 951
S|EFET3 T 730 1,486 705 781
g 2,051 4,845 2,340 2,505
ERE1T 559 1,364 660 704
EIRET2T 366 933 460 473
EREIST 460 1,326 644 682
EIRETAT 677 1,554 720 834
EIZEIST 469 971 491 480
g 2,531 6,148 2,975 3,173
MEH 2,809 6,424 3,037 3,387
J\THET1T 25 28 9 19
J\THET2T 25 63 32 31
J\THEI3T 57 130 62 68
B 107 221 103 118
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